



City of Pembroke Pines  
Procurement  
Mark Gomes, Procurement Director  
601 City Center Way, Pembroke Pines, FL 33025

---

## EVALUATION TABULATION

IFB No. TS-24-10

HP Servers

RESPONSE DEADLINE: September 10, 2024 at 2:00 pm

Report Generated: Monday, November 25, 2024

### SELECTED VENDOR TOTALS

Vendor	Total
Hypertec USA Inc.	\$57,407.50
GHA Technologies, Inc	\$57,612.50
Noble Tec, LLC	\$57,994.75
My IT Masters	\$58,199.30
Eagle Secure Solutions, LLC	\$59,074.85
Sai Infotek Inc	\$59,702.30
Comprevive, LLC	\$59,805.25
Howard Technology Solutions	\$60,245.00
Netsync Network Solutions, Inc.	\$60,415.40
White Horse Distribution, LLC	\$61,177.00

EVALUATION TABULATION

IFB No. TS-24-10

HP Servers

---

Vendor	Total
Questivity	\$61,383.50
Unicom Government	\$61,989.05
C&C International	\$62,095.00
BIT USA INC	\$62,505.35
HNEXUS SOLUTIONS LLC	\$62,975.25
The RetroFitter	\$65,216.10
Tech Network Supply LLC	\$65,395.50
Anixter, Inc	\$66,511.45
Logista	\$68,070.00
Miners Supply Co	\$68,826.15
MEDIA PAM GROUP LLC	\$69,030.75
EQUITRADE CORPORATION	\$72,400.00
R&M Best Deals LLC	\$74,418.30
HBA	\$74,830.00
Trove 360 LLC	\$110,663.35

Question Title	Hypertec USA Inc.	GHA Technologies, Inc	Noble Tec, LLC	My IT Masters	Eagle Secure Solutions, LLC
I certify that I have read, understood and agree to the terms in this solicitation, and that I am authorized to submit this response on behalf of my company.	Pass	Pass	Pass	Pass	Pass
Project Cost: Pricing / Bid Table(S)	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed
Project Documents	Included	Included	Included	Included	Included
Proposer's Background Information	Not Included				
Standard Documents					
Non-Collusive Affidavit	Pass	Pass	Pass	Pass	Pass
Sworn Statement on Public Entity Crimes	Pass	Pass	Pass	Pass	Pass
	<b>A</b> ) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	<b>A</b> ) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	<b>A</b> ) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	<b>A</b> ) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	<b>A</b> ) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.
Equal Benefits Certification Form	Pass	Pass	Pass	Pass	Pass
	Contractor currently complies	Contractor currently complies	Currently Complies	Currently Complies	Contractor currently complies
Vendor Drug-Free Workplace Certification Form	Pass	Pass	Pass	Pass	Pass
	Complies Fully	Does not meet Requirement	Complies Fully	Complies Fully	Does not meet Requirement
Scrutinized Company Certification	Pass	Pass	Pass	Pass	Pass
E-Verify System Certification Statement	Pass	Pass	Pass	Pass	Pass
Veteran Owned Small Business (VOSB) Preference Certification	Pass	Pass	Pass	Pass	Pass
	Does not meet Requirement	Does Not Meet Requirements			
Determination Letter from the United States Department of Veteran Affairs Center	No Response				
	N/A	N/A	N/A	N/A	N/A
Local Vendor Preference Certification	Pass	Pass	Pass	Pass	Pass
	Does not meet Requirement	Does Not Meet Requirements	Does not meet Requirement	Does not meet Requirement	Does Not Meet Requirements
Local Business Tax Receipts	No Response	Pass	No Response	No Response	No Response
	Not Included				
Anti-Human Trafficking Affidavit	Pass	Pass	Pass	Pass	Pass
Optional Documentation					
Trade Secrets	No Response				
Financial Statements	No Response				
Alternatives	No Response				
Additional Information	Pass	No Response	No Response	No Response	No Response
	W-9 Quote				
Professional Licenses	Pass	No Response	No Response	No Response	No Response
Vendor Classification					
Is your firm a Minority-Owned Business Enterprise (MBE)?	Pass	Pass	Pass	Pass	Pass
	No, not a Minority Business Enterprise				
Is your firm a Woman-Owned Business Enterprise (WBE)?	Pass	Pass	Pass	Pass	Pass
	No	No	No	No	No
Is your firm a HubZone Business / Labor Surplus Area Firm?	Pass	Pass	Pass	Pass	Pass
	No	No	No	No	No
If you selected "yes" to any of the above questions, please provide current certificates from the agency(ies) that certified your vendor classification.	No Response				
	N/A	N/A	N/A	N/A	N/A

Question Title	Sai Infotek Inc	Comprevive, LLC	Howard Technology Solutions	Netsync Network Solutions, Inc.	White Horse Distribution, LLC
I certify that I have read, understood and agree to the terms in this solicitation, and that I am authorized to submit this response on behalf of my company.	Pass	Pass	Pass	Pass	Pass
	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed
Project Cost: Pricing / Bid Table(S)	Included	Included	Included	Included	Included
Project Documents					
Proposer's Background Information	Not Included				
Standard Documents					
Non-Collusive Affidavit	Pass	Pass	Pass	Pass	Pass
Sworn Statement on Public Entity Crimes	Pass	Pass	Pass	Pass	Pass
	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.
Equal Benefits Certification Form	Pass	Pass	Pass	Pass	Pass
	Need to make one selection	Contractor currently complies	Contractor currently complies	Contractor will not comply	Will Comply
Vendor Drug-Free Workplace Certification Form	Pass	Pass	Pass	Pass	Pass
	Complies Fully	Complies Fully	Complies Fully	Complies Fully	No Selection
Scrutinized Company Certification	Pass	Pass	Pass	Pass	Pass
E-Verify System Certification Statement	Pass	Pass	Pass	Pass	Pass
Veteran Owned Small Business (VOSB) Preference Certification	Pass	Pass	Pass	Pass	Pass
	Does Not Meet Requirements	Meets Requirements	Does not meet Requirement	Does not meet Requirement	Does Not Meet Requirements
Determination Letter from the United States Department of Veteran Affairs Center	Pass	Pass	No Response	No Response	No Response
	N/A	Included	N/A	N/A	N/A
Local Vendor Preference Certification	Pass	Pass	Pass	Pass	Fail
	Does Not Meet Requirements	Meet Requirement	Does not meet Requirement	Does not meet Requirement	Not Filled
Local Business Tax Receipts	Pass	Fail	No Response	No Response	No Response
	Not Included				
Anti-Human Trafficking Affidavit	Pass	Pass	Pass	Pass	Fail
Optional Documentation					
Trade Secrets	Pass	No Response	No Response	No Response	No Response
Financial Statements	No Response				
Alternatives	No Response				
Additional Information	Pass	No Response	Pass	Pass	No Response
	Quote W.9		Quote	Company Presentation Quote	
Professional Licenses	No Response				
Vendor Classification					
Is your firm a Minority-Owned Business Enterprise (MBE)?	Pass	Pass	Pass	Pass	Pass
	No, not a Minority Business Enterprise	No, not a Minority Business Enterprise	No, not a Minority Business Enterprise	Yes, a Hispanic-American MBE	Yes, other option not listed above Yes, an Asian-American MBE
Is your firm a Woman-Owned Business Enterprise (WBE)?	Pass	Pass	Pass	Pass	Pass
	No	No	No	Yes	Yes
Is your firm a HubZone Business / Labor Surplus Area Firm?	Pass	Pass	Pass	Pass	Pass
	No	No	No	No	Yes
If you selected "yes" to any of the above questions, please provide current certificates from the agency(ies) that certified your vendor classification.	No Response	No Response	No Response	Pass	No Response
	N/A	N/A	N/A	HMSDC Certificate MBE Certificate WBE Certificate	Not Included

Question Title	Questivity	Unicorn Government	C&C International	BIT USA INC	HNEXUS SOLUTIONS LLC
I certify that I have read, understood and agree to the terms in this solicitation, and that I am authorized to submit this response on behalf of my company.	Pass	Pass	Pass	Pass	Pass
	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed
Project Cost: Pricing / Bid Table(S)	Included	Included	Included	Included	Included
Project Documents					
Proposer's Background Information	Not Included				
Standard Documents					
Non-Collusive Affidavit	Pass	Pass	Pass	Pass	Pass
Sworn Statement on Public Entity Crimes	Pass	Pass	Pass	Pass	Pass
	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.
Equal Benefits Certification Form	Pass	Pass	Fail	Fail	Pass
	Currently Comply	Currently Complies	Not Inc	Need to make one selection	Contractor currently complies
Vendor Drug-Free Workplace Certification Form	Pass	Pass	Pass	Pass	Pass
	Complies Fully				
Scrutinized Company Certification	Pass	Pass	Pass	Pass	Pass
E-Verify System Certification Statement	Pass	Pass	Pass	Pass	Pass
Veteran Owned Small Business (VOSB) Preference Certification	Pass	Pass	Fail	Pass	Pass
	Does Not Meet Requirements	Does not Meet Requirements	Not Filled	Does Not Meet Requirements	Does not meet Requirement
Determination Letter from the United States Department of Veteran Affairs Center	No Response	No Response	Fail	No Response	No Response
	N/A	N/A	Not Filled	N/A	N/A
Local Vendor Preference Certification	Pass	Pass	Pass	Pass	Pass
	Does Not Meet Requirements	Does not Meet Requirements	Meet Requirement	Meet Requirements	Does not meet Requirement
Local Business Tax Receipts	Pass	No Response	Pass	Pass	No Response
	Not Included	Not Included	Not a tax receipt	LBTR- Broward - 09-30-25	Not Included
Anti-Human Trafficking Affidavit	Pass	Pass	Fail	Pass	Pass
Optional Documentation					
Trade Secrets	No Response				
Financial Statements	No Response				
Alternatives	No Response				
Additional Information	No Response	Pass	No Response	No Response	No Response
		Quote Proposal Template			
Professional Licenses	No Response				
Vendor Classification					
Is your firm a Minority-Owned Business Enterprise (MBE)?	Pass	Pass	Pass	Pass	Pass
	Yes, an Asian-American MBE	No, not a Minority Business Enterprise	Yes, an African-American MBE	Yes, an Asian-American MBE	No, not a Minority Business Enterprise
Is your firm a Woman-Owned Business Enterprise (WBE)?	Pass	Pass	Pass	Pass	Pass
	No	No	Yes	No	No
Is your firm a HubZone Business / Labor Surplus Area Firm?	Pass	Pass	Pass	Pass	Pass
	No	No	No	No	No
If you selected "yes" to any of the above questions, please provide current certificates from the agency(ies) that certified your vendor classification.	No Response	No Response	No Response	Pass	No Response
	Not Included	N/A	Not Included	MWBE Certification	N/A

Question Title	The RetroFitter	Tech Network Supply LLC	Anixter, Inc	Logista	Miners Supply Co
I certify that I have read, understood and agree to the terms in this solicitation, and that I am authorized to submit this response on behalf of my company.	Pass	Pass	Pass	Pass	Pass
	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed
Project Cost: Pricing / Bid Table(S)	Included	Included	Included	Included	Included
Project Documents					
Proposer's Background Information	Not Included				
Standard Documents					
Non-Collusive Affidavit	Pass	Fail	Pass	Pass	Pass
Sworn Statement on Public Entity Crimes	Pass	Pass	Pass	Pass	Pass
	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.
Equal Benefits Certification Form	Pass	Pass	Pass	Pass	Pass
	D. Contractor does not comply 1. The contractor does not provide benefits to employees' spouses in traditional marriages;	Currently Complies	Contractor currently complies	Contractor currently complies	Currently Complies
Vendor Drug-Free Workplace Certification Form	Pass	Pass	Pass	Pass	Pass
	Complies Fully				
Scrutinized Company Certification	Pass	Pass	Pass	Pass	Pass
E-Verify System Certification Statement	Pass	Pass	Pass	Pass	Pass
Veteran Owned Small Business (VOSB) Preference Certification	Pass	Pass	Pass	Pass	Pass
	Does not Meet requirements	Does not meet requirements	Does Not Meet Requirements	Does not meet Requirement	Does not meet Requirement
Determination Letter from the United States Department of Veteran Affairs Center	Pass	No Response	No Response	No Response	No Response
	N/A	N/A	N/A	N/A	N/A
Local Vendor Preference Certification	Pass	Pass	Pass	Pass	Pass
	Meets Requirements	Does not meet requirements	Does Not Meet Requirements	Does not meet Requirement	Does not meet Requirement
Local Business Tax Receipts	Pass	No Response	No Response	No Response	No Response
	Not Included	Not Included	Not Included	Not Included	UNIFORM SALES & USE TAX RESALE CERTIFICATE — MULTIJURISDICTION
Anti-Human Trafficking Affidavit	Pass	Pass	Pass	Pass	Pass
Optional Documentation					
Trade Secrets	No Response				
Financial Statements	No Response				
Alternatives	No Response	No Response	No Response	Pass	No Response
Additional Information	Pass	No Response	No Response	Pass	No Response
	EIN Certification			Bios Error Letter Quote	
Professional Licenses	No Response				
Vendor Classification					
Is your firm a Minority-Owned Business Enterprise (MBE)?	Pass	Pass	Pass	Pass	Pass
	Yes, a Hispanic-American MBE	No, not a Minority Business Enterprise	Not a Minority Business	No, not a Minority Business Enterprise	No, not a Minority Business Enterprise
Is your firm a Woman-Owned Business Enterprise (WBE)?	Pass	Pass	Pass	Pass	Pass
	Yes	No	No	No	No
Is your firm a HubZone Business / Labor Surplus Area Firm?	Pass	Pass	Pass	Pass	Pass
	No	No	No	No	No
If you selected "yes" to any of the above questions, please provide current certificates from the agency(ies) that certified your vendor classification.	Pass	No Response	No Response	No Response	No Response
	DBE Certification SBE, MBE, WMBE and DBE Certifications	N/A	N/A	N/A	N/A

Question Title	MEDIA PAM GROUP LLC	EQUITRADE CORPORATION	R&M Best Deals LLC	HBA	Trove 360 LLC
I certify that I have read, understood and agree to the terms in this solicitation, and that I am authorized to submit this response on behalf of my company.	Pass	Pass	Pass	Pass	Pass
	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed
Project Cost: Pricing / Bid Table(S)	Included	Included	Included	Included	Included
Project Documents					
Proposer's Background Information	Not Included				
Standard Documents					
Non-Collusive Affidavit	Pass	Pass	Pass	Pass	Pass
Sworn Statement on Public Entity Crimes	Pass	Pass	Pass	Pass	Pass
	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.
Equal Benefits Certification Form	Pass	Pass	Pass	Pass	Pass
	Will Comply	Contractor currently complies	Will Comply	Contractor currently complies	D. Contractor does not comply 1. The contractor does not provide benefits to employees' spouses in traditional marriages;
Vendor Drug-Free Workplace Certification Form	Pass	Pass	Pass	Pass	Pass
	Complies Fully				
Scrutinized Company Certification	Pass	Pass	Pass	Pass	Pass
E-Verify System Certification Statement	Pass	Pass	Pass	Pass	Pass
Veteran Owned Small Business (VOSB) Preference Certification	Pass	Pass	Pass	Pass	Pass
	Does not meet Requirement	Does Not Meet Requirements	Does Not Meet Requirements	Does not meet Requirement	Does not meet requirement
Determination Letter from the United States Department of Veteran Affairs Center	No Response				
	N/A	N/A	N/A	N/A	N/A
Local Vendor Preference Certification	Pass	Pass	Pass	Pass	Pass
	Meets Requirements	Does Not Meet Requirements	Does Not Meet Requirements	Does not meet Requirement	Does not meet requirement
Local Business Tax Receipts	Fail	Pass	Pass	No Response	No Response
	Not Included				
Anti-Human Trafficking Affidavit	Pass	Pass	Pass	Pass	Pass
Optional Documentation					
Trade Secrets	No Response				
Financial Statements	No Response				
Alternatives	No Response				
Additional Information	No Response				
Professional Licenses	No Response	No Response	No Response	Pass	No Response
Vendor Classification					
Is your firm a Minority-Owned Business Enterprise (MBE)?	Pass	Pass	Pass	Pass	Pass
	Yes, an African-American MBE	Yes, an African-American MBE	Yes, an African-American MBE	Yes, an Asian-American MBE	No, not a Minority Business Enterprise
Is your firm a Woman-Owned Business Enterprise (WBE)?	Pass	Pass	Pass	Pass	Pass
	No	No	No	No	No
Is your firm a HubZone Business / Labor Surplus Area Firm?	Pass	Pass	Pass	Pass	Pass
	No	No	No	No	No
If you selected "yes" to any of the above questions, please provide current certificates from the agency(ies) that certified your vendor classification.	No Response	Pass	Pass	Pass	No Response
	Not Included	DBE Certification	MBW Certificate Diversity management certificate	Asian Pacific American and Pacific Islander	N/A

					Anixter, Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$13,302.29	\$66,511.45
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$0.00	\$0.00
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$0.00	\$0.00
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$0.00	\$0.00
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$0.00	\$0.00
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$0.00	\$0.00
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$0.00	\$0.00
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW	5 Each		\$0.00	\$0.00
		Service - HPE Tech Care Essential Service - Hardware				
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$0.00	\$0.00
		<b>Total</b>				<b>\$66,511.45</b>

					BIT USA INC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$3,456.07	\$17,280.35
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$573.98	\$8,609.70
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$506.30	\$15,189.00
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,286.00	\$6,430.00
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$60.40	\$302.00
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$170.00	\$1,700.00
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$141.34	\$706.70
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$182.92	\$914.60
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,274.60	\$11,373.00
		<b>Total</b>				<b>\$62,505.35</b>

					C&C International	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$3,925.00	\$19,625.00
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$467.00	\$7,005.00
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$494.00	\$14,820.00
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,234.00	\$6,170.00
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$59.00	\$295.00
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$164.00	\$1,640.00
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$138.00	\$690.00
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$178.00	\$890.00
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,192.00	\$10,960.00
		<b>Total</b>				<b>\$62,095.00</b>

					Comprevive, LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$4,495.00	\$22,475.00
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$299.00	\$4,485.00
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$311.66	\$9,349.80
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,189.00	\$5,945.00
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$89.93	\$449.65
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$198.00	\$1,980.00
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$255.68	\$1,278.40
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW	5 Each		\$152.00	\$760.00
		Service - HPE Tech Care Essential Service - Hardware				
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,616.48	\$13,082.40
		<b>Total</b>				<b>\$59,805.25</b>

					Eagle Secure Solutions, LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$3,737.94	\$18,689.70
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$445.18	\$6,677.70
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$469.98	\$14,099.40
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,175.03	\$5,875.15
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$54.20	\$271.00
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$151.82	\$1,518.20
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$131.22	\$656.10
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$169.80	\$849.00
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,087.72	\$10,438.60
		<b>Total</b>				<b>\$59,074.85</b>

					EQUITRADE CORPORATION	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$4,687.00	\$23,435.00
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$556.00	\$8,340.00
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$524.00	\$15,720.00
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,345.00	\$6,725.00
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$68.00	\$340.00
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$185.00	\$1,850.00
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$227.00	\$1,135.00
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW	5 Each		\$324.00	\$1,620.00
X	#1-9	Service - HPE Tech Care Essential Service - Hardware Onsite - 3 Year(s) - In Warranty	5 Each		\$2,647.00	\$13,235.00
		<b>Total</b>				<b>\$72,400.00</b>

					GHA Technologies, Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$3,175.00	\$15,875.00
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$524.00	\$7,860.00
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$460.00	\$13,800.00
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,180.00	\$5,900.00
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$55.50	\$277.50
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$156.00	\$1,560.00
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$130.00	\$650.00
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$168.00	\$840.00
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,170.00	\$10,850.00
		<b>Total</b>				<b>\$57,612.50</b>

Selected	Line Item	Description	Quantity	Unit of Measure	HBA	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom					
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each			\$5,611.00	\$28,055.00
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each			\$565.00	\$8,475.00
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each			\$850.00	\$25,500.00
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each			\$550.00	\$2,750.00
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each			\$195.00	\$975.00
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each			\$175.00	\$1,750.00
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each			\$450.00	\$2,250.00
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW	5 Each			\$365.00	\$1,825.00
X	#1-9	Service - HPE Tech Care Essential Service - Hardware Onsite - 3 Year(s) - In Warranty	5 Each			\$650.00	\$3,250.00
		<b>Total</b>					<b>\$74,830.00</b>

					HNEXUS SOLUTIONS LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$4,470.25	\$22,351.25
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$328.38	\$4,925.70
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$493.16	\$14,794.80
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$987.50	\$4,937.50
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$47.08	\$235.40
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$117.70	\$1,177.00
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$135.36	\$676.80
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$198.91	\$994.55
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,576.45	\$12,882.25
		<b>Total</b>				<b>\$62,975.25</b>

					Howard Technology Solutions	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$3,300.00	\$16,500.00
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$557.00	\$8,355.00
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$491.00	\$14,730.00
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,253.00	\$6,265.00
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$61.00	\$305.00
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$160.00	\$1,600.00
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$138.00	\$690.00
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$183.00	\$915.00
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,177.00	\$10,885.00
		<b>Total</b>				<b>\$60,245.00</b>

					Hypertec USA Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$4,052.08	\$20,260.40
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$258.33	\$3,874.95
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$410.41	\$12,312.30
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,144.79	\$5,723.95
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$78.12	\$390.60
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$193.75	\$1,937.50
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$118.56	\$592.80
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$176.04	\$880.20
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,286.96	\$11,434.80
		<b>Total</b>				<b>\$57,407.50</b>

Selected	Line Item	Description	Quantity	Unit of Measure	Logista	Total
					Unit Cost	
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$13,614.00	\$68,070.00
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		No Bid	No Bid
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		No Bid	No Bid
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		No Bid	No Bid
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		No Bid	No Bid
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		No Bid	No Bid
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		No Bid	No Bid
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW	5 Each		No Bid	No Bid
		Service - HPE Tech Care Essential Service - Hardware				
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		No Bid	No Bid
		<b>Total</b>				<b>\$68,070.00</b>

					MEDIA PAM GROUP LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$4,517.64	\$22,588.20
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$499.49	\$7,492.35
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$527.32	\$15,819.60
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,341.56	\$6,707.80
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$80.04	\$400.20
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$225.33	\$2,253.30
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$147.22	\$736.10
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$194.01	\$970.05
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,412.63	\$12,063.15
		<b>Total</b>				<b>\$69,030.75</b>

					Miners Supply Co	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$4,078.69	\$20,393.45
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$529.33	\$7,939.95
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$537.89	\$16,136.70
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,420.78	\$7,103.90
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$78.18	\$390.90
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$235.99	\$2,359.90
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$158.84	\$794.20
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$201.00	\$1,005.00
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,540.43	\$12,702.15
		<b>Total</b>				<b>\$68,826.15</b>

My IT Masters						
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom						
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$4,780.00	\$23,900.00
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$529.99	\$7,949.85
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$539.99	\$16,199.70
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,259.99	\$6,299.95
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$64.99	\$324.95
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$169.99	\$1,699.90
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$144.99	\$724.95
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$220.00	\$1,100.00
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$0.00	\$0.00
		<b>Total</b>				<b>\$58,199.30</b>

					Netsync Network Solutions, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$3,953.82	\$19,769.10
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$437.15	\$6,557.25
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$461.51	\$13,845.30
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,174.13	\$5,870.65
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$70.05	\$350.25
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$197.20	\$1,972.00
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$128.85	\$644.25
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$169.79	\$848.95
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,111.53	\$10,557.65
		<b>Total</b>				<b>\$60,415.40</b>

					Noble Tec, LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$3,365.45	\$16,827.25
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$520.29	\$7,804.35
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$459.18	\$13,775.40
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,168.20	\$5,841.00
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$52.69	\$263.45
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$148.33	\$1,483.30
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$128.20	\$641.00
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$169.13	\$845.65
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,102.67	\$10,513.35
		<b>Total</b>				<b>\$57,994.75</b>

Selected	Line Item	Description	Quantity	Unit of Measure	Questivity	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom					
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each			\$4,127.48	\$20,637.40
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each			\$515.09	\$7,726.35
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each			\$454.59	\$13,637.70
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each			\$1,156.52	\$5,782.60
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each			\$52.16	\$260.80
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each			\$146.85	\$1,468.50
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each			\$126.92	\$634.60
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each			\$167.25	\$836.25
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each			\$2,079.86	\$10,399.30
		<b>Total</b>					<b>\$61,383.50</b>

					R&M Best Deals LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$4,031.80	\$20,159.00
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$630.09	\$9,451.35
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$610.59	\$18,317.70
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,356.52	\$6,782.60
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$79.00	\$395.00
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$394.25	\$3,942.50
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$226.92	\$1,134.60
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$367.25	\$1,836.25
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,479.86	\$12,399.30
		<b>Total</b>				<b>\$74,418.30</b>

					Sai Infotek Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$3,431.75	\$17,158.75
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$530.54	\$7,958.10
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$468.23	\$14,046.90
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,191.22	\$5,956.10
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$71.07	\$355.35
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$200.08	\$2,000.80
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$130.73	\$653.65
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$172.27	\$861.35
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,142.26	\$10,711.30
		<b>Total</b>				<b>\$59,702.30</b>

					Tech Network Supply LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$4,276.18	\$21,380.90
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$472.80	\$7,092.00
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$499.14	\$14,974.20
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,269.86	\$6,349.30
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$75.76	\$378.80
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$213.29	\$2,132.90
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$139.36	\$696.80
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$184.68	\$923.40
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,293.44	\$11,467.20
		<b>Total</b>				<b>\$65,395.50</b>

					The RetroFitter	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$4,443.60	\$22,218.00
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$531.60	\$7,974.00
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$560.40	\$16,812.00
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$124.06	\$620.30
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$198.11	\$990.55
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$264.00	\$2,640.00
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$158.47	\$792.35
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$201.36	\$1,006.80
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,432.42	\$12,162.10
		<b>Total</b>				<b>\$65,216.10</b>

					Trove 360 LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$3,833.94	\$19,169.70
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$620.95	\$9,314.25
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$561.84	\$16,855.20
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,479.84	\$7,399.20
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$129.22	\$646.10
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$269.09	\$2,690.90
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$189.07	\$945.35
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$209.02	\$1,045.10
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$10,519.51	\$52,597.55
		<b>Total</b>				<b>\$110,663.35</b>

					Unicom Government	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$4,056.79	\$20,283.95
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$448.54	\$6,728.10
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$473.53	\$14,205.90
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,204.71	\$6,023.55
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$71.88	\$359.40
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$202.34	\$2,023.40
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$132.21	\$661.05
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$174.22	\$871.10
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,166.52	\$10,832.60
		<b>Total</b>				<b>\$61,989.05</b>

					White Horse Distribution, LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
		HPE ProLiant DL360 Gen11 - Intel Xeon 5416S 2.0GHz 16-Core 30MB - DDR5 - Embedded Intel VROC SATA for HPE ProLiant Gen11, with 14 SATA ports (10-ports accessible) ; Choice of HPE modular Smart Array and PCIe plug-in controller - Broadcom				
X	#1-1	BCM57416 Ethernet 32GB (1x32GB) Dual Rank x8 DDR5-4800 CAS-40-39-	5 Each		\$3,421.52	\$17,107.60
X	#1-2	39 EC8 Registered Smart Memory Kit	15 Each		\$568.24	\$8,523.60
X	#1-3	HPE 960GB SATA MU SFF BC MV SSD	30 Each		\$469.34	\$14,080.20
X	#1-4	HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	5 Each		\$1,273.82	\$6,369.10
X	#1-5	HPE DL360 GEN11 NS204I-U FRONT CBL KIT	5 Each		\$59.79	\$298.95
X	#1-6	HPE DL360 Gen11 High Perf Heat Sink Kit HPE 800W Flex Slot Platinum Hot Plug Low Halogen	10 Each		\$168.30	\$1,683.00
X	#1-7	Power Supply Kit HPE iLO Advanced Electronic License with 3yr	5 Each		\$139.93	\$699.65
X	#1-8	Support on iLO Licensed Features HPE 3 Year Tech Care Essential DL360 Gen11 HW Service - HPE Tech Care Essential Service - Hardware	5 Each		\$181.09	\$905.45
X	#1-9	Onsite - 3 Year(s) - In Warranty	5 Each		\$2,301.89	\$11,509.45
		<b>Total</b>				<b>\$61,177.00</b>